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FET=ZE(%) SETAEBIE(A) FEBIE(N)
BOEMSIFEY E:] 25.0 12 48
=S 44.0 11 25
2K 315 23 73
HEEOEETEY E: 12.8 6 47
= 17.1 6 35
e 14.6 12 82
EEOEEHEY 5 13.6 3 22
x 20.0 2 10
2K 15.6 5 32
SEXBLIUMDOEMETFEY E: 84.6 11 13
=4 60.0 3 5
2K 77.8 14 18
SMLmEE E; 25.0 1 4
=S 20.0 1 5
2K 22.2 2 9
i 2% E 19.7 14 71
= 19.4 6 31
e 19.6 20 102
i 2 E; 0.0 0 1
=S 0.0 0 3
2K 0.0 0 4
RS E 10.8 9 83
= 11.6 8 69
e 11.2 17 152
Hisd 5 i E: 28.6 6 21
=S 115 3 26
2K 19.1 9 47
FERIA E: 0.0 0 30
= 0.0 0 28
e 0.0 0 58
KEBREHEEBE E 0.0 0 9
=S 0.0 0 47
21K 0.0 0 56
BiEE E: 0.0 0 6
E= 0.0 0 6
e 0.0 0 12
LT PN E: 0.0 0 11
=4 0.0 0 20
21K 0.0 0 31
SRER E: 0.0 0 15
E= 0.0 0 16
e 0.0 0 31
[EF=Fnd L 1.6 1 62
x 0.0 0 48
21K 0.9 1 110
BIL AR AR K AE E: 0.0 0 18
E= N/A 0 0
2K 0.0 0 18
BAE E: 0.0 0 38
=4 0.0 0 32
2 0.0 0 70
% 5 0.0 0 6
= 0.0 0 1
2K 0.0 0 7
FEMHE L N/A 0 0
=4 0.0 0 30
2 0.0 0 30
TIME 5 0.0 0 26
Es 0.0 0 9
2K 0.0 0 35
BHEARURERA 5 0.0 0 17
T 0.0 0 8
2K 0.0 0 25
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FETCER(%) SETIE B E(N) FEBIE(N)
AEDEMHEY B N/A 0 0
£ 7.0 3 43
21K 7.0 3 43
FRBE & I E: 0.0 0 3
s 0.0 0 30
21K 0.0 0 38
BEAILZT E] 00 0 34
£ 0.0 0 4
21K 0.0 0 38




